Here are some shapes on a grid.

1) 2300 -289 =

2) 6382x3=

3) 20028 —2739 = A B

4) 83+ = % of 400
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5) 4/50f20=

6) 40x 60 =

Wiite the letter of each shape that has one pair of parallel sides.

7) 1/10 of 800 =

8) 1/10 of 17 =

T 0‘: (XX ()2“* ((éfyf)'f (Zz

9) Which letters have parallel lines?

A B C D E
cx',aé, 12, 8ot (@s 61056, )¢
= 8) +(w5() S (G)
10) 5/7 X 5 :"\/'(.r"’{f?)(,“lfﬂ(/(/f)('
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The diagram shows four lines drawn on a square grid.

The lines are AB, BC_, CD and DA

C
A
B
D

Which two of the lines are parallel?
Circle them in the list below.

AB BC CD DA
Which two of the lines are perpendicular?
Circle them in the list below.

AB BC CD DA



1) 2300 _ 289 — 2011 Here are some shapes on a grid. The diagram shows four lines drawn on a square grid.

The lines are AB, BC_, CD and DA

2) 6382 x3=19146 N
1= \ y C
3) 20028 —2739 =17289 A B a 7/
o | Y
4) 83+ __17__ =Y of 400 /

Aavil Eau) N
5) 4/50f 20 = 16 / / = 1 )
/ = :>< %
6) 40x60= 2400 / , D

Wiite the letter of each shape that has one pair of parallel sides.

7) 1/10 of 800 = 80 /A\ C

Which two of the lines are parallel?
Circle them in the list below.

AB CD

Which two of the lines are perpendicular?
Circle them in the list below.

@ sc ( cD) DA

8) 1/100f17=1.7

9) Which letters have parallel lines?
A B C D? E

10) 5/7 x5 =25/7 or 3 and 4/7
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